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AP Calculus AB Ms. Loughran
Do Now:
1. Given y= 1.+xtanx, find y'.
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AP Calc AB: Calculator Active Questions Ms. Loughran

1. The function f'defined by f(x)=e> +6x”+1 has a horizontal tangent at x =

(A) -0.144 (B) —-0.150 @) -0.156 (D) —0.162 (E) —0.168 Uf 'hu‘- ‘;'
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2. Let f(x)=2¢" and g(x)=5x". At what value of x do the graphs of f'and g have

parallel tangents? _‘“b):- ’2.&3!_3 - 6C3X 9‘[1\'): [Sx"
(A) 0445 @ 0366 (C) 0344 (D) 0251 (E) —0.165
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3. Let f'be the function given by f(x)= 5¢*. For what positive value of a is the
slope of the line tangent to the graph of fat (a, f(a)) equal to 67

(A) 0.142 (@) 0344 (C) 0393 (D) 0595 (E) 0.714
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4. An object moves along the x-axis so that at tinie ¢, # > 0, its position is given by
x(t)=t"+1—30t> + 88¢. At the instant when the acceleration becomes zero, the

— —————

velocity of the object is approximately

(A) 244 (B) 12 () 0 (D) —12 (E) —24
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AP Calculus AB Inl(cjlo Linear Motion - Multiple Choice Practice

1) A particle moves along the x-axis so that its position at time / is given by x(¢) = 2¢2 - 121 + 9. For what value of ¢
is the particle at rest?

A) 1 B) 9 C) 3 D) 4 E) 0
VIE)= 4L -1>
) Y12 =0
E=%

2) A particle travels along the x-axis so that at any time ¢ 2 0, its position is given by x(f) = 13 - 9/2 + 24¢ + 2. For
what value(s) of 7 is the velocity equal to zero?

A) (=3, only B) r=0andt= C) t=4,only
D) =2, only (Er’t——/’?qandtﬁ
vit)=3L5-IfL 494 3 (e-y)t-2) o
vi{t)y=3(t"-bE +3) L=y /L 2

)

A particle moves along a horizontal axis so that its position is given by x(r) = 415 563 for any time 1. How many

es the particle change direction?

B) 2 @,1 & 3 Vlt)' 0 E) s .
oy v L= vzf)u'rot" )5
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4) A particle moves on the x-axis such that its position at any time ¢ > 0 is given by x(t) =13 - 912 24‘9. What is the

velocity of the particle when its acceleration is zero?
A) 24 B) 105 C) 3 D) 0 E) -3
NV H)= 3{-_';47{ 124
&({): bt - 1Y
t=3

5) A particle moves along a horizontal axis so that its

v(3)= 27-54+24 =- 3

tion is defined by S(r) = 4 cos gt for0=r=5. Whatis
the velocity of the particle at the time its accele /cauen is firyt equal to zero?

A) -4x B) 4n C) -2 D) -x? E) 2=z
2!
)—- —H/S!Y(g >_3:/ = "Was'n(at)
a(!-) - Toes(5e) T = -5 ws(Zt)

6) A particle moves along the x-axis in such a way that its position at any time / is given by x(1) = 1% - 8/ + 1812 + 2
for > 0. At what time is-Cceleration of the particle equal to 362

A) 3 B).4 c) 12 D) 2 E) 6
Vi)=Yt =20t "+ 3ot LR +36 = 36
A(+)= 2t°- 48t 436 o>y =0 €70
jag(t-4)=0 &Y
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A particle moves along the x-axis so that at any time ¢ = 0, its position is given by x(¢) = 2 + sin (xtr). What is

.

3
the acceleration of the particle at time ¢ = 5?

A) 0 B) = C) 2 D) =2 E) -n2
g‘/g/f
Vi) =ht - ot

Ifthe position of a particle moving on the x-axis at any time / is given by x(r) = 23 - 312, what is the average

acceleration of the particle for 0 = ¢ = 3?
A) 15 B) 9 C) 8 E) 18
d\ONE NV

v(3)-v[0)
7 (7

1
The position of a particle moving on a horizontal axis for time /, where 7 = 0, is S(1) = 3 sin ot I. What is the




